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Perimeter = 28cm Area = 42cm² 
Perimeter = 30cm Area = 35cm² 

Perimeter = 26cm Area = 38cm² Perimeter = 30cm Area = 42cm² 

Perimeter = 26cm Area = 38cm² 
Perimeter = 44cm Area = 96cm² 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

Perimeter = 34cm Area = 57cm² 

Perimeter = 44cm Area =94cm² Perimeter = 46cm Area = 104cm² 

Perimeter = 47cm Area = 88cm² 



Guided Reading 

1. Find the phrase that shows the experience 

in the first paragraph is not good. Bad! Bad! 
Yes, very bad! 

 

2. Find and copy a synonym of 'got used to it'. 

Accustomed 

 

3. Define the word 'break'. Get ready/prepare to 

be ridden 

 

4. Find and copy the name of the 'great side-

pieces'. blinkers 

 

5. Find and copy the phrase that shows that 

the horse likes his owner. such as good master 

 

6. Find and copy the word that shows that 

the farmer was next door. neighbouring 

 


